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PSG COLLEGE OF ARTS & SCIENCE
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BSc DEGREE EXAMINATION DECEMBER 2022
' (Third Semester) '

_' _Branch - NUTRITION FOOD SERVICE MANAGEMENT AND PIETETICS
MATHEMATICS o

MATHEMAILICS ,
‘Time: Three Hours .- Maximum: 50 Marks
' ' SECTION-A (5 Marks) ' :

: Answer ALL questions , :
ALL questions catry EQUAL marks Gx1=35)
-1 In fhe'expansidh of cosn@ , the coefficient of cos” @ is
@2 o (2" | (ii)2"" 2"
2 If 4 isany 3x2matrix then (AT)T is :
(i) 3x2matrix B ' , (ii) 2x3 matrix
(ii) 2x2 matrix : (iv) 3x3 matrix -

3 The rate of convergence of Gauss — Seidel is
(i) Thrice as fast as in Jacobi’s. method

(ii) Roughly twice that of J acobi’s method
(iii) Exactly asinJ acobi’s method.

(iv) Thrice as slow as in Jacobi’s method

4 The process of computing the value of the function inside the given argument is called

(i) Interpolation ' . (ii) Extrapolation

. ‘(iii) Partial fraction ~ (iv) Inverse interpolation
5 I Trapezoidal rule, 'the interval is (0,1) and s = 0.25, then the value of nis '
RS 2 - (D)3 (iv) 4
| | ' SECTION-B (15 Marks)
Answer ALL Questions

ALL Questions Carry EQUAL Marks (5x3=15)

6 aExpress cos84 interms of siné.
‘ ' OR

' tan@ +secd -1
bFind 1} ' }
. 13_I,Ptan9—sec6+1_

7 a Calculafe A* when A=[_.-i z]
OR

| 3 | 11
b Find the Eigen values of | 1+ 5

8 a Solve the system of equaﬁon by Gauss—Elimination method
2x+y+4z=12, 8x—-3y+2z=20, 4x+11y—-2z=33..
' OR

b Solve by Géuss~J§rdan method ‘ »
5x—2y+3z=18, x+7y-3z= 22, 2x—y+6z=22.

9 aFindthe valve of y for x=5 using Newton’s interpolation for the folldwing data

x |4 |6 |8]10
y |1 3 18116
OR '
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b Using Lagrange’s interpolation find y(2) from the following data:

x 10 11 [3 [4 |5
Ty To {1 _[8_|256 [625

dx

= by Trapezoidal rule with h=0.2.
+ X

' 1
10 a Evaluate I
T ;
OR
: 1. }
b . Evaluate jxe"dxt by Simpson’s -:1; rule with ‘h=0.25.
5 , .

' SECTION -C (36 Marks)
Answer ALL questions _ i
ALL questions carry EQUAL Marks (5x6=30)

in terms of cosé.

1la Express Slfl 66

sin

- OR
b E)'(pand‘ sin®@cos’® @ in a series of sines of multiples of 6.
_ 6 -2 2
12 a Find the Eigen values and Eigen vectorof | -2 3 -1].
- - | 2 -1 3
OR
. _ | 2 -1 1 ,
b Find the characteristic equation of the matrix | -1 2 —1| and hence obtain the
1 -1 2 :

inverse.

13a Solve the following systems of equation by Gauss- Jacobi methods
10x+2y+2z=9, x+10y—z=-22, -2x+3y+10z=22. .
o o , -~ OR
b Solve the system by Gauss-Seidal method.

10x-5y—2z=3, 4x-10y+3z=-3, x+6y+10z=-3

14 a  Using Newton’s formula, calculate the population dﬁring the year 1895 and 1925.

[Year 1891 | 1901 1911 | 1921 | 1931
Population(thousands) | 46 - | 66 81 93 101

| o - OR
b  Find the value of f(x) corresponding to x=27.

[x [14 |17 |31 |35

fx) | 687 |640 |440 |39.1 .

dy

. — \ 4
15 a From the following table of values of x and y obtain E and ij’.’c—g’for x =1.05.

x |1 1105 |11 115 112 125 |13
y 1 1025 [1049 [1.072 |1.095 [1.118 | 1.14

or

l .
b Evaluate J‘ dx

Tix using Romberg’s method and correct to three decimal places. Hence
0 ’ ) :

‘evaluate log?.

zzz END



